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1.

Geometry

Let AABC be an isosceles triangle with m(AB)} = m(BC) = 2 cm. If
m(<{ BAC) = 300, the area of AABC is

(a) 4 cm?

(b) V3 cm?

(c) 2/3 en?

(d) 3 cm?

{e) none of the above

If a circle is inscribed in a square 1 cm. on a side, the length of the
radius of the circle is

(a) 1 cm. i

(b) % en.

(c) %—cm.

(d) %cm.

(e) none of the above

If a man 6 feet tall casts a shadow 12 feet in length when he is 20 feet
from the base of a lamppost, the height of the lamppost is

(a) 12 feet

(b) 14 feet

(c) 16 feet

(d) 18 feet

(e) 20 feet

In the following diagram, m{¥ BOC) is a right angle.where 0 is a point between
A and D. Then angles AOB and COD can be said to be

(a)
(b)
(c)
(d)
(e)

complementary

supplementary ¢ C
equal \\\\\\¢/////

adjacent A 0 N

none of the above



Geometry

5. If statement a implies statement b and statement b implies statement ¢,and
we know that statement ¢ is false, we can conclude that

a) statement a is faise and b is true.

o

) statement b is false and a is true

(
(
(

o

) statements a and b are both false
(d) statements a and b are both true

(e) none of the above

6. In the given diagram, JKITQ and RTLIQ. Then, m(&JIKO) is

(a) 900
(b) 38°
(c) 108°
(d) 959
(e) 52°

7. If %-= §~= %3 which of the following is true?

———~
]
S
[«})
+
9]
1

o
[ui]
+ o+

o
(= A V)

d
d=b+c¢

{e} none of the above

8. The volume of a right circular cone of height 10 m. and base diameter 4 m. 1is

(a) 4n m3
(b} 40w m3
©
(d) 207 m3

(e) none of the above



Geometry

9. If m{(4¥BXY) = m(¢¥BAC), which of the following is true?

L B
(a) AX = ¥YC
BX XY
(¢) m@A) = m(aC) X y
, AC__ BC
(d) = EY
(e) none of these, A

10. In the following figure, AAZB is a right angle and m{<JZAB) = m{IZVX).
Which one of the following statements is true?

(a

) z
b) AAZC is similar to AXYZ

)

)

114

AAIB & AXYZ

—

{c) m{QZAB) = m(¥ZBA)

(d) AZAB is similar to AZYX

(e) none of the above A C B

11. The number w is
(a) 3.14

(b) 4

(c) 3.1416

(d) an irrational number

(e) none of the above

12. The intersection of two distinct non-parallel planes is

(a) a point

(b} two points

{c} the empty set
)

a pTane

(e) none of these



13.

14.

15,

Geometry

A collapsible ironing board is constructed so that the supports bisect each
other.

The board will always be parallel to the floor
bacause.

(a) the vertical angles at M are egual.

(b) 1if two angles of a triangle are equal, )
the sides opposite them are equal.

(¢} if the diagonals of a quadrilateral bisect
each other, the quadrilateral is a parallelogram.

(d) If two parallel lines are cut by a transversal, the corresponding
angles are equal.

(e) M{XAMD) + M(xAMC) = 180°
In an equilateral triangle inscribed in a circle, the distance measured

along a median of the triangle from the intersection of all medians to a
vertex angle is 5 cm. The area of the circle is

(a) 50w cm2
(b) 10w cm?
{(c) 25 cm?

(d} 1007 cmé
(e} 257 cm?

The maximum number of straight 1ines that can be determined by five distinct
points is

(a) 12
(b) 5
{c) 15
(d} 10
(e} 4



16.

17.

18.

19.

Which of
a common
(a) The
(b) The
(c) The
{d) The
(e) The

Geometry

the following is an impossible situation for two distinct rays with
endpoint?

union of the rays could form a ray.

unfon of the rays could form a straight line.
intersection of the rays could form a line segment.
intersection of the rays could be a point.

union of the two rays could form an obtuse angle.

An inscribed angle is measured by

(a) one-

half the diameter of the circle.

(b) twice its intercepted arc.

(c) the

lengths of the chords involved.

(d) half its intercepted arc.

(e} one-third its intercepted arc.

In a right circular cylinder, the height measures twice the radius of the
base of the cylinder. If the radius is 8 cm, what is the volume of the cylinder?

(a) 1024w cm3
(b) 128/3 cm3
(¢c) (2048/3)r cm3
(d) 341.3r cem’
(e) 102473 cmd

The Tocus of a point the sum of whose distance from the two fixed points
is a constant describes a figqure known as

(a} a hyperbola.

(b} a square.

(c) an ellipse.

(d) a circle.

{e) a straight Tine.
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23.

Geometry

Which of the following may be an impossible compass and straight edge
construction?

(a)

A triangle given three 1ine segments to be used as sides of the
triangle

The bisection of any given angle
The bisection of any given line segment
The trisection of any given line segment

The construction of a line perpendicular to a given Tine at a
given point

In an equilateral triangle of sides equal to 10 cm, the area is

25/3 cm?
50 cm?

503 cm?
25/2 cm?
50/2 cmé

From the top of a cliff 100 m. high, the angle of depression of a boat is 300,
How far is the boat from the foot of the cl1iff?

50+3 m.
20073 m.
100V3 m.

What is the total surface area of a right circular cylinder which has a base
radius of 3 cm. and a height of 10 cm?

(a)
(b)
(c)

60 cm? (d) 129« cm®
78+ cm? (e} none of the above
694 cm?
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25.

26.

27.

Geometry

In which case below are the two angles described not supplementary?

Two adjacent angles formed when two straight Tines meet.

Interior angles on the same side of a transversal intersecting
parallel lines.

Exterior angles on the samé side of a transversal intersecting
parallel Tines.

Alternate exterior angles when a transversal intersects parallel
lines.

none of the above.

Consider the following construction: Given ABC, place compass point at

B and swing arcs above BC and below BC. Using the same radius, place
compass point at C and swing arcs_above and below BC that intersect
previous arcs_at D and E. Draw DE intersecting BC at F. Draw AF. The
1ines DE and AF are,respectively,

(a)
(b)
(c)
(d)
(e)

perpendicular bisector and angle bisector.
altitude and median.

perpendicular bisector and median.

median and angle bisector.

altitude and angle bisector,

Which of the following conditions does not prove congruence of two triangles?

(a) SAS = SAS

(b) SSA = SSA

{c) ASA = ASA

(d) HS = HS

{e) SAA = SAA

In the given diagram, m(AC) = m(BC) and D is on the extension of AC through C.
Which of the fellowing is true? D

(a) BC_LAD C#’

(b) mx2) + mIX3) = m(x4)

(c) m@1) = Zm(@4) A

all of the above

none of the above _ 8



Geometry

The sum of the measures of angles A, B, C, D, and E in the accompanying
figure is

{(a) Tess than 180° B
(b) 1800 A //\\ c

(c) greater than 1809 and less than 360°
(d}) 360°
(e} cannot be determined E D

Given the statement: "If p, then g," which of the following is not
represented by "If not g, then not p?"

(a) Inverse
Contrapositive
Inverse of the converse

)

(c)

(d) Converse of the inverse
)

(e) none of the above

In the figure, 0 is the center of the circle. 0D.L AB, OF L BT,
m{0E) = m{0D) = 5 cm and m(BE) = 12 cm. Then m(AB) is

{a) 12 cm. B

(b) 13 cm.

(c) 24 cm.

(d) 26 cm.

(e} cannot be determined A C

In the figure, ABCD 1§Hp circumscribed quadrijatera1 with m(DC) = 6 cm,
m(BC) = 3.5 cm and m(AB) = 3.4 c¢cm. Then m(AD) is

(a) 6 cm.
]
(b) 6.55 cm.
C
(c) 12.9 cm.
(d) 5.9 cm.
{e) 6.9 cm. B



Geometry

32. In the figure, AB is a diameter, FDE and BEC are tangents and m(gC) s 400.
Then, m{&CDE) 1is

P
(a) 200 A )
(b) 25°
(c) 300
(d) 350 c
(e) 40° ] E

33. In the figure, CD bisects XC. If m(AC) = 8 cm, m(BE) = 5 cm. and m{AB) = 6.5 cm.,
then m{(AD) is

C
(a) 4.0625 cm.
{b) 10.4 cm.
(¢c) 2.5 cm.
(d) 4 cm.
(9) 6.25 cm. B D A

34. Two parallel chords of a circle measure 16 inches and 30 inches, respectively.
If the measure of the distance between their midpoints is 23 inches, the radius
of the circle measures
(a) V644 inches
(b} 15 dinches
(c) V161 inches
(d) 8 inches

(e) 17 dinches
35. In the figure, point P divides the side AC of AABC into segments which have

the ratio of 3 to 4. From P, Tines are drawn parallel to AB and BC. The
ratio of the area of the parallelogram thus formed to the area of AABC is

(a) 3% A
(b) 2 p
(c) w2
() &
16 B ¢
(e) ﬁ-@—

10
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Geometry

Three distinct non-collinear points do not determine

a triangle

a plane

)

)

) a circle
) 3 lines
)

none of the ahove

One vertex of a square is at the origin and the diagonals of the square
intersect at the point (2, 3}. The area of the square is

(a) 52 square units

b) 52 square units

(

(c) 26 square units
(d) V26 square units
(

e} none of the above

Two circles, each of which has radius 2, intersect as shown.

A,

B

If the tangents drawn to the two circles at point A are perpendicular, the
area of the shaded region is

(a} 4 -
(b) 2n - 4
(c) 2n

(d) 4n - 2

(e) none of the above

11



39.

40.

Geometry

A square is inscribed in a circle of radius 3 cm. The area of the 4 regions
outside the square and inside the circle is

(a)
(b)
(c)
(d)
(e)

(18 - 9r) cm?
(9% - 18) cm
(36 ~ 9u) cm?
(9n - 36) cm?

impossible to determine

In the figure, angle B is a_right angle, the circle with center at 0 is
inscribed in triangie ABC, RC = 21, and TA = 4. Then BX is equal to

(a)
(b)
(c)
(d)
(e)

V2 - 3 C
6 - V2

32 - 3

2

none of the above




